Orust BK
Sommarbridge 2019-07-29

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poéang % Namn MID Klubb
1 5 198 58.93  Bengt Hilling - Arnold Knutsson 10849 7468  Orust BK
2 6 195 58.04  Folke Abrahamsson - Stig Larsson 30998 24367 Orust BK
3 3 193 57.44  Christer Koch - Michael Koch 85704 27453 BK S:t Erik - Kungalvs BK
4 11 190 56.55  Erling Lennartsson - Mats Olsson 7457 9337  Orust BK
5 12 188 55.95  Bernt Johansson - Jonas Ammedalen 9164 80028 Orust BK
6 7 182 54.17  Morgan Carlman - Carl-Eric Gustavsson 32484 49165 Levene BK - Kvanums BK
7 16 177 52.68  Anita Koch - Gundel Koch 49510 41700 BK S:t Erik - Kungalvs BK
8 13 176 52.38 Irma Karlsson - Marianne Sundstrom 13187 17677 Uddevalla BF
9 15 167 49.70  Lena Zetterup - Jan-Olof Zetterup 87572 87573 Lerums BK
10 8 162 48.21  Bengt Nordstréom - Erik Sved 36124 16 Tjorns BK
11 10 160 47.62  Olle Kimfalk - Tommy Gyllin 84905 13152 Brastads BS
12 14 157 46.73  Thomas Englund - Kenneth Gadd 41642 7511  Tjorns BK
13 2 151 44.94  Georg Olsson - Paul Ohman 26438 91004 Orust BK
14 1 143 42.56  Shirley Persson - Ingemar Andersson 25455 26762  Orust BK
15 9 137 40.77  Allan Johansson - Arne Andersson 18392 18451 Tjorns BK
16 4 112 33.33  Claes-Goran Edlund - Lisbet Edlund 56902 62814 Kvéanums BK - Levene BK
1 «ED8 2 4109542 3 4 D862
Nord v Kn982 Ost vD6 Syd v-
Ingen + KDKn85 NS + D964 ov ¢ E98
&E KD #D108642
41032 4 K7654 4+ D63 & EKKn7 AaEKKn &4
v10 vD3 v 10954 vEK873 vE3 v D108654
¢+ E6 +10742 ¢ EK10 4872 ¢ KD532 ¢ Kn1074
#K1096432 #Kn5 #Kn42 &3 &#KKn3  &E9
4 Kn9 48 4109753
v EK7654 vKn2 v KKn972
+93 ¢ Kn53 +6
«D87 #E1098765 &75
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 5 4vS+2 &6 480 80 6.0|16 12 4v O+1 48 -450 140 00| 4 6 4v0O-2 +6 200 9.0 5.0
8 11 4v S+2 ¢A 480 80 60| 3 5 4v0O+2 48 -480 6.0 80| 7 15 6¢ O-2 T 200 9.0 50
9 4 4v N+2 46 480 80 6.0| 8 11 4v O+2 48 -480 6.0 80| 9 12 4v0O-2 +6 200 9.0 50
10 2 4v S+2 ¢A 480 80 60| 9 4 4v0O+2 48 -480 6.0 80|10 5 4aV-2 48 200 9.0 5.0
13 1 4v S+2 ¢A 480 80 60|10 2 4v O+2 48 -480 6.0 80|11 3 4vV-2 *6 200 9.0 50
14 7 49 S+2 %6 480 80 60|13 1 4vO0+2 &A -480 6.0 80|13 2 4v0O-2 T 200 9.0 50
15 6 4vy N+2 ¢A 480 80 60|14 7 4vO0+2 #A -480 6.0 80| 1 16 4v V-1 +8 100 2.0 120
16 12 4v S+1 43 450 0.0 14015 6 4v O+2 &8 -480 6.0 80|14 8 44DS-5 +¢Q -1100 0.0 14.0
4 4 986532 5 4853 6 410
Vast vK3 Nord v8 Ost v7
Alla ¢ K92 NS ¢+ D109754 ov ¢ 1098652
#105 2K109 #Kn9852
a74 4 K10 4ED109 474 4 E98743 4 KD652
vKn76 vED109842 vK2 vKn109764 v 1092 v DKn53
+ D54 +103 ¢ EKKn 4862 ¢+ ED3 ¢-
#K9876 #32 #ED73 #Kné6 &E #K1073
« EDKn & KKn62 4 Kn
v5 vED53 v EK864
¢ EKn876 +3 ¢ KKn74
#EDKn4 #8542 D64
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
13 2 54 N+1 &3 680 140 00| 5 7 6v0O-4 +3 200 13.0 10|13 3 54DO-1 vA 200 14.0 0.0
9 12 44 N+1 &6 650 11.0 3.0| 9 14 6NV -4 v8 200 130 10|12 4 5¢S-2 A -100 120 2.0
11 3 44 N+1 T 650 11.0 30| 8 15 6vy O-3 +3 150 100 40| 5 7 44 0= vK -620 50 9.0
7 15 49yDO-1 4A 200 70 7.0|10 1 4v0O-2 +3 100 50 90| 8 15 44 O= vK -620 50 9.0
10 5 34 N+2 3 200 70 7.0|11 6 4v0O-2 +3 100 50 90| 9 14 44 O= vK -620 50 9.0
14 8 44 N-1 vA -100 40 10012 4 4y Q-2 +3 100 50 9.0|10 1 440-= vA -620 50 9.0
1 16 5¢ S-2 v] -200 20 12016 2 4v0O-2 +3 100 50 90|11 6 44 0= vK -620 50 9.0
4 6 4¢ N-3 vJ -300 0.0 140(13 3 5v 0= +3 -450 00 140(16 2 44 0= vA -620 50 9.0
7 48 8 4 Kn9865 9 4 Kn1076
Syd v Kn865 Vast vKn109 Nord vE1053
Alla ¢ EK98732 Ingen + D97 ov ¢+ D4
L Y #85 #Kn65
4953 « KDKn106 4 EK42 4107 «KD3 4984
v 103 vKD7 vKD54 vE876 v7 v8
¢+ DKn105 +¢ 64 ¢ EKKn3 ¢ 52 ¢+ E9862 ¢ KKn10753
#KKn76 &D105 D #EKn1093 #E973 #D108
A E742 «D3 « E52
vE942 v32 v KDKn9642
¢- + 10864 .-
#E9843 &#K7642 K42
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
15 9 44DO-3 vA 800 140 00|13 4 3NO+1 &2 -430 140 00|12 3 4v S= v7 420 12.0 2.0
10 14 4v S+1 ¢+Q 650 11.0 3.0| 3 16 4v V+1 vl] -450 120 2.0|14 11 4v S= aK 420 12.0 2.0
12 7 49 S+1 49 650 11.0 30| 6 8 6vO= +8 -980 70 7.0|15 10 4v S= ¢A 420 120 2.0
13 4 4y N= 4T 620 80 6.0|10 14 6v O= +6 -980 70 70| 1 8 3vS+2 4Q 200 70 7.0
6 8 3vyS+2 a9 200 6.0 80|11 2 6vV= 8 -980 70 7.0|16 4 3v S+2 ¢A 200 70 7.0
3 16 2¢ N+2 &K 130 40 100(15 9 6v V= v] -980 70 70| 2 6 4vS-1 v8 -50 20 120
1 5 4vS-2 +9 -200 20 120|112 7 6NV= 46 -990 20 120| 7 9 4vN-1 *J -50 20 120
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11 2 4v N-3 oK -300 0.0 140| 1 5 6vO+1 #8 -1010 00 140|138 5 5vS-1 ¢A -50 20 120
10 » EK642 11 « ED97 12 » E10964
Ost v 842 Syd v EK75 Vast v7
Alla + ED3 Ingen + K87 NS +D4
*K3 #65 #DKn432
«DKn5 410987 + 106 # KKn5 4752 4 KDKn
vKn653 vE97 vKnl06 vD9432 vD9532 v EKn86
+87 ¢ K1092 +6532 +D9%4 ¢ EK83 ¢ Knl076
#ED76 #Kn5 210974 #32 &5 *96
3 #8432 «83
vKD10 v8 v K104
¢ Kn654 ¢ EKn10 ¢ 952
#109842 #EKDKn8 #EK1087
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr ut Res Poéng
12 3 INS= v6 90 120 20| 2 9 3NN+2 v3 460 140 00| 3 7 3vV= *Q -140 140 0.0
13 5 INS= *6 90 120 20| 1 4 44S+1 v6 450 70 70| 1 4 2v0+2 &K -170  10.0 4.0
16 4 INN-= *2 90 120 20| 3 7 44 S+l vJ] 450 70 7.0| 8 10 3v O+1 3 -170 10.0 4.0
1 8 1laN-1 &5 -100 6.0 80| 5 16 44 S+1 vJ 450 70 70|13 6 2vV+2 £Q -170 100 4.0
7 9 INN-1 T -100 60 80| 8 10 44 S+1 &T 450 70 7.0|14 12 54 S-2 ¢+ K -200 6.0 8.0
15 10 2NN-1 *2 -100 6.0 80|11 15 44 N+1 #3 450 70 7.0| 2 9 4v 0= &K -420 3.0 11.0
2 6 2NN-2 2 -200 10 13.0|14 12 44 S+1 ¢5 450 70 7.0| 5 16 4vO= +K -420 3.0 11.0
14 11 3NS-2 *6 -200 10 13.0|13 6 64 S-2 *9 -100 0.0 140|11 15 54DS-2 +A -500 0.0 14.0
13 « 1098 14 & KKn3 15 4942
Nord v D64 Ost v Kn4 Syd v Kn5
Alla + E8654 Ingen ¢ 10963 NS + Kn986
#65 #9763 #K652
4E32 4 KDKn6 » 986 4754 « DKn87 463
v EK10872 vKn9 v2 v ED986 v EK10843 v9762
7 ¢+ K2 ¢ KKn42 ¢ E5 ¢*- ¢ EK753
#DKn3 #E9742 #KD854 #E102 *E84 #103
4754 «ED102 « EK105
v53 v K10753 vD
¢ DKn1093 ¢ D87 ¢ D1042
#K108 #Kn #DKn97
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
12 15 54 0= ¢J -600 14.0 0.0|12 15 24 N-2 *A -100 140 0.0 7 16 2v V+3 42 -200 140 0.0
3 10 4v V= *6 620 120 2.0| 2 5 INV+1 T -120 110 30| 5 9 4v V= *2 -420 120 2.0
1 14 4v V+1 &7 -650 60 80| 4 8 INO+1 5 120 110 3.0| 2 14 4v V+l ¥5 -450 50 9.0
2 5 4v 0+1 o7 -650 6.0 80| 1 14 3#0+1 3 -130 80 60| 3 6 4vV+l ¢8 -450 50 9.0
4 8 4v O+1 ¢4 -650 6.0 80| 9 11 2NO+1 2 -150 50 90| 4 11 4v V+1 &2 -450 50 9.0
13 7 4y V+1 o7 -650 60 80|16 6 INV+2 T -150 50 9.0]|10 12 4v O+1 &A -450 50 9.0
16 6 4vV+1 &6 -650 6.0 80| 3 10 2NO+2 +¥3 -180 20 12.0|13 8 4v O+l 4A -450 50 9.0
9 11 3NO+2 +Q -660 0.0 14013 7 3NO+1 #J -430 00 14015 1 4vV+1l v5 -450 50 9.0
16 «10 17 « K107 18 «E
Vast v E10642 Nord v KKn975 Ost v Kn64
ov .- Ingen ¢ E NS + D5
10985432 #6532 #EK109543
4 KDKn2 4987543 «DKn8 4 E9532 # KKn9653 & 742
vKn97  vK v 864 v103 v K8 vED105
¢ Kn762 #D9843 ¢ KD962 ¢ 75 ¢ EK7 +10842
*K6 &7 «109 *K874 *Kn2 86
«E6 64 «D108
v D853 vED2 v 9732
¢ EK105 ¢ Kn10843 ¢ Kn963
#EDKn #EDKn «D7
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
3 6 4vS+1 4Q 450 11.0 30| 5 12 4y N+1 5 450 120 20|11 1 4eV-2 K 100 140 0.0
5 9 4y N+1 &7 450 11.0 3.0|13 9 4vy N+l «A 450 120 20| 5 12 44 V-1 &K 50 110 3.0
7 16 4v S+1 &K 450 11.0 30|16 8 4vyN+1 &4A 450 120 20|15 2 34V-1 *A 50 11.0 3.0
15 1 4vS+1 &K 450 11.0 3.0| 6 10 2¢v N+2 &3 170 80 60| 6 10 24 V+1 &K -140 50 9.0
13 8 4v N= 8 420 60 80|11 1 4vN-1 vT -50 40 100|13 9 34 0= *A -140 50 9.0
10 12 34 O-2 v3 200 40 100(14 3 4y N-1 v3 -50 40 100|14 3 34V= *A -140 50 9.0
2 14 6y S-2 oK -100 10 13.0|15 2 5¢vN-1 v3 -50 40 100|16 8 34 V= *A -140 50 9.0
4 11 2NS-2 &K -100 10 13.0| 4 7 2¢ N-2 &T -100 00 140| 4 7 44 V= *A -420 0.0 14.0
19 « D106 20 « K4 21 # EKKn53
Syd v 109865 Vast v 982 Nord vK
oV ¢+ D5 Alla ¢ EKD72 NS + K6
#D42 #K32 #KD1097
4952 4 Kn8 «E6 « DKn1093 476 « D104
vE72 v KKn43 vE4 v Kn7 vE10532 vDKn874
¢ K10943 ¢ Kn82 10965 +843 ¢ E752 +9
#Kn3 #K765 #EKN654 #1097 52 #EKn63
» EK743 #8752 4982
vD vKD10653 v 96
¢+ E76 ¢ Kn ¢ DKn10843
#E1098 «D8 *84
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
3 15 49 S= «8 420 120 20| 3 15 4y N+1 4Q 650 130 10| 6 9 34N= ¢5 140 130 1.0
5 8 44 S= a2 420 120 20|12 2 4v S+l &A 650 130 10|13 11 34 N= ¢9 140 130 1.0
12 2 44 S= «5 420 120 20| 5 8 4vS= ¢5 620 90 50| 8 12 5v0-2 49 100 10.0 4.0
9 16 3NN= v3 400 80 6.0|13 10 4v N= «Q 620 90 50|16 10 1a N= *9 80 8.0 6.0
6 1 34N+l &) 170 60 80| 6 1 2¢vN+3 «A 200 60 80| 7 2 2v0+1 +Q -140 6.0 8.0
14 4 24 S+1 vA 140 40 100| 7 11 3y N+1 «A 170 30 110 1 3 44 N-2 +9 -200 4.0 10.0
7 11 1a N-1 a2 -50 10 13014 4 3vS+l «A 170 3.0 11.0|] 4 15 2NN-3 vQ -300 20 120
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13 10 44 S-1 vA -50 9 16 INN= &T 90 5 14 49 O+1 LY:] -450
22 a7 23 10953 24 « KKn865
Ost vKD9 Syd vKKn Vast v 542
oV + EK106 Alla + K108 Ingen ¢E3
&#EKKNn32 #10954 #942
& KKn83 4 ED10642 & KD7 & Kn82 #1092 &73
vEKn1084 v6 v 942 v E10653 v EKn9 vD1076
+ D7 + Kn98 ¢ DKn53 ¢ 962 41087542 ¢ KKn
&D7 #1065 &ED8 »72 »10 &#EKKN75
495 «E64 «ED4
v 7532 v D87 v K83
¢ 5432 ¢ E74 + D96
984 &#KKn63 D863
Par Kontr Ut Res Par Kontr Ut Res Par Kontr Ut Res
6 9 4¢ N= v6 130 140 0.0(13 12 3v O-2 a4 200 140 00| 2 4 1a N+1 &A 110 13.0 1.0
7 2 44 0-1 &9 100 120 20| 2 4 INS+1 +5 120 11.0 30| 9 1 24 N= &K 110 13.0 1.0
1 3 340= &3 -140 . 6.0 7 10 INS+1 +5 120 11.0 3.0(11 16 24 N-1 &A -50 80 6.0
5 14 34 0= &8 -140 6.0 6 14 INS= +5 90 . 70|13 12 24 N-1 ¢+ K -50 80 6.0
16 10 24 O+ &9 -140 6.0|11 16 INS= v9 90 70|15 5 34 N-1 +K -50 80 6.0
8 12 4v S-3 a3 -150 100 9 1 24 N-1 &7 -100 100 7 10 3« O= s A -110 4.0 10.0
4 15 24 O+ &9 -170 12015 5 2v 0= v7 -110 120 8 3 3¢ V+1 v5 -130 20 120
13 11 34DO &9 -730 140 8 3 2v O +1 &3 -140 140| 6 14 34 N-3 &A -150 0.0 14.0
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